



6-2011

Improved G'/G-Expansion Method and Comparing with Tanh-Coth Method

Jafar Biazar
University of Guilan

Zainab Ayati
University of Guilan

Follow this and additional works at: <https://digitalcommons.pvamu.edu/aam>



Part of the [Numerical Analysis and Computation Commons](#)

Recommended Citation

Biazar, Jafar and Ayati, Zainab (2011). Improved G'/G-Expansion Method and Comparing with Tanh-Coth Method, *Applications and Applied Mathematics: An International Journal (AAM)*, Vol. 6, Iss. 1, Article 20. Available at: <https://digitalcommons.pvamu.edu/aam/vol6/iss1/20>

This Article is brought to you for free and open access by Digital Commons @PVAMU. It has been accepted for inclusion in *Applications and Applied Mathematics: An International Journal (AAM)* by an authorized editor of Digital Commons @PVAMU. For more information, please contact hvkoshy@pvamu.edu.



Available at
<http://pvamu.edu/aam>
Appl. Appl. Math.
ISSN: 1932-9466

Applications and Applied
Mathematics:
An International Journal
(AAM)

Vol. 6, Issue 1 (June 2011) pp. 240 – 250
(Previously, Vol. 6, Issue 11, pp. 1981 – 1991)

Improved G'/G -Expansion Method and Comparing with Tanh-Coth Method

Jafar Biazar and Zainab Ayati

Department of Mathematics
Faculty of Science
University of Guilan
P.O. Box 41635-19141, P.C. 4193833697
Rasht, Iran
jafar.biazar@gmail.com; ayati.zainab@gmail.com

Received: January 2, 2010; Accepted: March 25, 2011

Abstract

In this paper, improved G'/G -expansion and tanh-coth methods for solving partial differential equations are compared. It has been shown that the tanh-coth method is a special case of the improved G'/G -expansion method. For illustration and more explanation of the idea, exact solutions of the Burgers and Boussinesq equations are obtained by improved G'/G -expansion and the results obtained compared with those of tanh-coth method.

Keywords: Improved G'/G -expansion method; tanh-coth method; partial Differential equation; Burgers equation; Boussinesq equation

MSC 2010 No.: 65M70, 65Q20

1. Introduction

In recent years, seeking exact solutions of nonlinear partial differential equations (NLPDEs) is of great significance as it appears to be mathematical the models of complex phenomena arising in

physics, mechanics, biology, chemistry and ring. Various methods have been presented to obtain solutions of NLPDEs. These include the tanh method [Wazwaz (2005), Malfliet- Hereman (1996)], sine–cosine method [Wazwaz (2006)], tanh-coth method [Wazwaz (2007)], Exp function method [He (2006), Biazar-Ayati (2008)], G'/G -expansion method [Wang-Zhang (2008), Zhang (2008)], and many others [He (2005), (1999)].

In this paper, tanh-coth and Improved G'/G -expansion methods are investigated. In the pioneer work of Malfliet (1992), the powerful tanh method widely used by researchers for a reliable treatment of the nonlinear wave equations was introduced. The tanh–coth method, developed by Wazwaz (2007), is also a direct and effective algebraic method for handling nonlinear equations. The second method, G'/G -expansion method, was proposed by Wang et al. (2008) for the first time, to look for travelling wave solutions of nonlinear evolution equations. This method is based on the assumptions that the travelling wave solutions can be expressed as a polynomial in G'/G and that $G = G(\xi)$ satisfies a second order linear ordinary differential equation (ODE).

In this paper, we show that improved G'/G -expansion method [Zhang (2010)] is a general form of the tanh-coth method.

2. The Improved G'/G -Expansion Method

Consider a nonlinear partial differential equation, in two independent variables, say x and t , in the form

$$p(u, u_t, u_x, u_{xx}, u_{tt}, \dots) = 0, \tag{1}$$

where $u = u(x, t)$ is an unknown function, and p is non-linear equation in $u = u(x, t)$ and its partial derivatives. To apply the method, we proceed as follows:

Step 1.

The transformation

$$\xi = x - wt, \tag{2}$$

where w is a constant, converts the PDE (equation (1)) to an ODE:

$$Q(u, u', u'', u''', \dots) = 0, \tag{3}$$

where the superscripts stands for the derivatives with respect to ξ .

Step 2.

We suppose that the solution of equation (3) can be expressed as the following polynomial in G'/G :

$$u(\xi) = \sum_{i=-m}^m \alpha_i \left(\frac{G'}{G}\right)^i, \tag{4}$$

where $G = G(\xi)$ satisfies a second order LODE in the form

$$G'' + \lambda G' + \mu G = 0. \tag{5}$$

with α_i, λ , and μ being constants to be determined later ($\alpha_m \neq 0$). The parameter m is a positive integer, in most cases, and can be determined by considering the homogeneous balance between the highest order derivatives and the highest order nonlinear terms, appearing in ODE (3).

Step 3.

Substituting equation (4) into equation (3) and using the second order LODE, Eq. (5), yields an algebraic equation involving powers of G'/G . Equating the coefficient of each power of G'/G to zero leads to a system of algebraic equations for determining α_i, w, λ , and μ .

Step 4.

Having the values of α_i, w, λ , and μ , from Step 3, and the solutions of LODE (5), which can be obtained easily, we are closed to the solutions of the nonlinear evolution equation (1).

3. The Tanh-Coth Method

The tanh-coth technique will be simply reviewed as follows:

Step 1.

Use the wave variable $\xi = x - wt$, to change the PDE into an ODE.

Step 2.

Introduce a new independent variable

$$Y = \tanh(\eta\xi), \tag{6}$$

that leads to the change of derivatives:

$$\frac{d}{d\xi} = \eta(1 - Y^2) \frac{d}{dY}, \tag{7}$$

$$\frac{d^2}{d\xi^2} = -2\eta^2 Y (1-Y^2) \frac{d}{dY} + \eta^2 (1-Y^2)^2 \frac{d^2}{dY^2}. \tag{8}$$

Other derivatives can be derived in a similar manner.

Step 3.

We then propose the following finite series expansion

$$u(\mu\xi) = s(Y) = \sum_{k=0}^m \beta_k Y^k + \sum_{k=1}^m \beta_{-k} Y^{-k} = \sum_{k=0}^m \beta_k \tanh^k(\eta\xi) + \sum_{k=1}^m \beta_{-k} \tanh^{-k}(\eta\xi), \tag{9}$$

in which in most cases m is a positive integer. To determine the parameter m , we usually balance the linear terms of highest order in the equation (3) with the highest order nonlinear terms. Substituting (7), (8) and (9) into the ODE yields an equation in powers of Y .

Step 4.

With m determined, we collect all coefficients of powers of Y in the resulting equation where these coefficients have to vanish. This will give a system of algebraic equations involving the parameters $\beta_k (k = -m, \dots, m)$, μ , and w . Having determined these parameters and using (9) we obtain an analytic solution $u = u(x, t)$, in a closed form.

The main characteristic of these two techniques is that they reduce partial differential equations to a system of algebraic equations.

4. Comparison of Improved G'/G -Expansion and Tanh-Coth Methods

Theorem:

The tanh-coth method is a special case of the improved G'/G -expansion method.

Proof:

For $\lambda^2 - 4\mu > 0$, the general solution of equation (6) will be obtained as following form

$$\frac{G'(\xi)}{G(\xi)} = \frac{\sqrt{\lambda^2 - 4\mu}}{2} \left(\frac{A \sinh\left(\frac{1}{2}\sqrt{\lambda^2 - 4\mu} \xi\right) + B \cosh\left(\frac{1}{2}\sqrt{\lambda^2 - 4\mu} \xi\right)}{A \cosh\left(\frac{1}{2}\sqrt{\lambda^2 - 4\mu} \xi\right) + B \sinh\left(\frac{1}{2}\sqrt{\lambda^2 - 4\mu} \xi\right)} \right) - \frac{\lambda}{2}, \tag{10}$$

where A and B are arbitrary constants. If we take $B = 0$ and $\lambda = 0$, equation (10) turns to

$$\frac{G'(\xi)}{G(\xi)} = \sqrt{-\mu} \tanh(\sqrt{-\mu} \xi). \tag{11}$$

By substituting equation (11) in equation (4), we get

$$u(\xi) = \sum_{i=-m}^m \alpha_i (\sqrt{-\mu})^i \tanh^i(\sqrt{-\mu} \xi). \tag{12}$$

By comparing equation (9) and equation (12), we conclude that if $B = 0$ and $\lambda = 0$, then the results of tanh-coth method can be obtained directly by improved G'/G -expansion and we will have

$$\sqrt{-\mu} = \eta, \quad \alpha_i \eta^i = \beta_i, \quad i = -m, \dots, m. \tag{13}$$

So, the tanh-coth method is a special case of the improved G'/G -expansion method.

5. Examples

In this section, the improved G'/G -expansion method will be applied to the two equations and these solutions will be compared with the obtained results of the tanh-coth method.

Example 1.

Consider one-dimensional Burgers' equation in the following form

$$\frac{\partial u}{\partial t} + u \frac{\partial u}{\partial x} = \nu \frac{\partial^2 u}{\partial x^2}. \tag{14}$$

In order to apply these methods, using the transformation

$$u = U(\xi) \text{ and } \xi = x - wt, \tag{15}$$

where w is a constant to be determined, equation (14) becomes an ordinary differential equation as follows:

$$-wu' + uu' - \nu u'' = 0. \tag{16}$$

Integrating equation (16) yields

$$-wu + \frac{1}{2}u^2 - vu' = 0. \tag{17}$$

For applying G'/G -expansion method, by considering the homogeneous balance between u' and u^2 in equation (17), we get

$$m = 1. \tag{18}$$

So, we can write (4) in the following simple form

$$u(\xi) = \alpha_1 \left(\frac{G'}{G} \right) + \alpha_0 + \alpha_{-1} \left(\frac{G'}{G} \right)^{-1}, \quad \alpha_1 \neq 0. \tag{19}$$

By substituting (19) into equation (17) and collecting all terms with the same power of G'/G together, the left-hand side of equation (17) is converted into another polynomial in G'/G . Equating each coefficient of this polynomial to zero yields a set of simultaneous algebraic equations for determining $\alpha_1, \alpha_0, \alpha_{-1}, w, \lambda$, and μ as follows:

$$\begin{aligned} \left(\frac{G'}{G} \right)^{-2} : \frac{1}{2} \alpha_{-1}^2 - v \alpha_{-1} \mu &= 0, \\ \left(\frac{G'}{G} \right)^{-1} : -w \alpha_{-1} + \alpha_0 \alpha_{-1} - v \alpha_{-1} \lambda &= 0, \\ \left(\frac{G'}{G} \right)^0 : v \alpha_1 \mu - w \alpha_0 + \alpha_1 \alpha_{-1} - v \alpha_{-1} + \frac{1}{2} \alpha_0^2 &= 0, \\ \left(\frac{G'}{G} \right)^1 : v \alpha_1 \lambda - w \alpha_1 + \alpha_0 \alpha_1 &= 0, \\ \left(\frac{G'}{G} \right)^2 : \frac{1}{2} \alpha_1^2 + v \alpha_1 &= 0. \end{aligned} \tag{20}$$

Solving these algebraic equations gives three sets of solutions:

The first solutions set:

$$\alpha_1 = -2v, \alpha_0 = -v\lambda + w, \alpha_{-1} = 0, \mu = -\frac{1}{4} \frac{(w^2 - v^2 \lambda^2)}{v^2}. \tag{21}$$

The second solutions set:

$$\alpha_1 = 0, \mu = -\frac{1}{4} \frac{(w^2 - v^2 \lambda^2)}{v^2}, \alpha_{-1} = -\frac{1}{2} \frac{(w^2 - v^2 \lambda^2)}{v}, \alpha_0 = w + v\lambda. \tag{22}$$

The third solutions set:

$$\alpha_1 = -2\nu, \lambda = 0, \mu = -\frac{1}{16} \frac{w^2}{\nu^2}, \alpha_{-1} = -\frac{1}{8} \frac{w^2}{\nu}, \alpha_0 = w. \tag{23}$$

Substituting equations (10), (21) - (23) into equation (19), turns to the following exact solutions, respectively,

$$u(\xi) = w \left(1 - \frac{A \sinh\left(\frac{w}{2\nu} \xi\right) + B \cosh\left(\frac{w}{2\nu} \xi\right)}{A \cosh\left(\frac{w}{2\nu} \xi\right) + B \sinh\left(\frac{w}{2\nu} \xi\right)} \right), \tag{24}$$

$$u(\xi) = w + \nu \lambda - \frac{1}{2} \frac{(w^2 - \nu^2 \lambda^2)}{\nu} \left(\frac{w}{2\nu} \frac{A \sinh\left(\frac{w}{2\nu} \xi\right) + B \cosh\left(\frac{w}{2\nu} \xi\right)}{A \cosh\left(\frac{w}{2\nu} \xi\right) + B \sinh\left(\frac{w}{2\nu} \xi\right)} - \frac{\lambda}{2} \right)^{-1}, \tag{25}$$

and

$$u(\xi) = \frac{w}{2} \left(2 - \frac{A \sinh\left(\frac{w}{4\nu} \xi\right) + B \cosh\left(\frac{w}{4\nu} \xi\right)}{A \cosh\left(\frac{w}{4\nu} \xi\right) + B \sinh\left(\frac{w}{4\nu} \xi\right)} - \left(\frac{A \sinh\left(\frac{w}{4\nu} \xi\right) + B \cosh\left(\frac{w}{4\nu} \xi\right)}{A \cosh\left(\frac{w}{4\nu} \xi\right) + B \sinh\left(\frac{w}{4\nu} \xi\right)} \right)^{-1} \right). \tag{26}$$

In particular case of $B = 0$ and $\lambda = 0$, equation (24)- (26) turn to

$$u(x, t) = w \left(1 - \tanh\left(\frac{w}{2\nu}(x - wt)\right) \right), \tag{27}$$

$$u(\xi) = w \left(1 - \coth\left(\frac{w}{2\nu}(x - wt)\right) \right), \tag{28}$$

and

$$u(\xi) = \frac{w}{2} \left(2 - \left(\tanh\left(\frac{w}{4\nu}(x - wt)\right) \right) - \coth\left(\frac{w}{4\nu}(x - wt)\right) \right), \tag{29}$$

where equations (27) and (29) are the same as the result obtained by tanh-coth method [Wazwaz (2008)].

Example 2.

Let's consider the fourth-order nonlinear Boussinesq equation

$$u_{tt} - u_{xx} - 3(u^2)_{xx} - u_{xxxx} = 0. \tag{30}$$

We first use $u(x, t) = u(\xi)$ that will carry out the equation (24) into the following form

$$(w^2 - 1)u'' - 3(u^2)'' - u^{(iv)} = 0. \tag{31}$$

By taking the twofold integral from the equation (31), and taking the integral constant zero for the sake of simplicity, we obtain

$$(w^2 - 1)u - 3u^2 - u'' = 0. \tag{32}$$

To apply G'/G -expansion method, we consider the homogeneous balance between u'' and u^2 in equation (32). So we drive $m = 2$, and equation (4) turns to the following simple form

$$v(\xi) = \alpha_2 \left(\frac{G'}{G}\right)^2 + \alpha_1 \left(\frac{G'}{G}\right) + \alpha_0 + \alpha_{-1} \left(\frac{G'}{G}\right)^{-1} + \alpha_{-2} \left(\frac{G'}{G}\right)^{-2}. \tag{33}$$

By substituting (33) into equation (32) and collecting all terms with the same power of G'/G together, the left-hand side of equation (32) is converted into another polynomial in G'/G . Equating each coefficient of this polynomial to zero yields to a set of simultaneous algebraic equations for determining $\alpha_2, \alpha_1, \alpha_0, \alpha_{-1}, \alpha_{-2}, w, \lambda$, and μ as follows:

$$\begin{aligned} \left(\frac{G'}{G}\right)^{-4} &: -6\alpha_{-2}\mu^2 - 3\alpha_{-2}^2 = 0, \\ \left(\frac{G'}{G}\right)^{-3} &: -6\alpha_{-1}\alpha_{-2} = 0, \\ \left(\frac{G'}{G}\right)^{-2} &: -8\alpha_{-2}\mu - 3\alpha_{-1}\lambda\mu - 4\alpha_{-2}\lambda^2 + w^2\alpha_{-2} - 6\alpha_0\alpha_{-2} - \alpha_{-2} - 3\alpha_{-1}^2 = 0, \\ \left(\frac{G'}{G}\right)^{-1} &: -\alpha_{-1}\lambda^2 - 6\alpha_1\alpha_{-2} + w^2\alpha_{-1} - 6\alpha_{-2}\lambda - 2\alpha_{-1}\mu - \alpha_{-1} - 6\alpha_0\alpha_{-1} = 0, \\ \left(\frac{G'}{G}\right)^0 &: -\alpha_1\lambda\mu - 2\alpha_2\mu^2 - \alpha_{-1}\lambda + w^2\alpha_0 - 2\alpha_{-2} - \alpha_0 - 3\alpha_0^2 - 6\alpha_1\alpha_{-1} - 6\alpha_{-2}\alpha_{-2} = 0, \\ \left(\frac{G'}{G}\right)^1 &: -6\alpha_2\alpha_{-1} - \alpha_1\lambda^2 + w^2\alpha_1 - \alpha_1 - 2\alpha_1\mu - 6\alpha_2\lambda\mu - 6\alpha_1\alpha_0 = 0, \\ \left(\frac{G'}{G}\right)^2 &: -4\alpha_2\lambda^2 - 3\alpha_1\lambda\mu - 3\alpha_1^2 - \alpha_2 - 8\alpha_2\mu - 6\alpha_0\alpha_2 + w^2\alpha_2 = 0, \end{aligned}$$

$$\left(\frac{G'}{G}\right)^3 : -2\alpha_1 - 2\alpha_{-1}\mu^2 - 6\alpha_2\alpha_1 - 10\alpha_{-2}\lambda\mu - 10\alpha_2\lambda = 0,$$

$$\left(\frac{G'}{G}\right)^4 : -6\alpha_2 - 3\alpha_2^2 = 0.$$

For the sake of simplicity, we suppose that $\alpha_1 = \alpha_{-1} = 0$. Then, by solving this system of algebraic equations we find the following sets of solutions, in which w is an arbitrary constant:

First set:

$$\alpha_0 = \frac{w^2 - 1}{2}, \alpha_2 = -2, \alpha_{-2} = 0, \mu = \frac{1 - w^2}{4}, \lambda = 0. \tag{34}$$

Second set:

$$\alpha_0 = \frac{1 - w^2}{6}, \alpha_2 = -2, \alpha_{-2} = 0, \mu = \frac{w^2 - 1}{4}, \lambda = 0. \tag{35}$$

Third set:

$$\alpha_0 = \frac{w^2 - 1}{2}, \alpha_2 = 0, \alpha_{-2} = -\frac{(w^2 - 1)^2}{8}, \mu = \frac{1 - w^2}{4}, \lambda = 0. \tag{36}$$

Forth set:

$$\alpha_0 = \frac{1 - w^2}{6}, \alpha_2 = 0, \alpha_{-2} = -\frac{(w^2 - 1)^2}{8}, \mu = \frac{w^2 - 1}{4}, \lambda = 0. \tag{37}$$

Fifth set:

$$\alpha_0 = \frac{w^2 - 1}{4}, \alpha_2 = -2, \alpha_{-2} = -\frac{(w^2 - 1)^2}{128}, \mu = \frac{1 - w^2}{16}, \lambda = 0. \tag{38}$$

Sixth set:

$$\alpha_0 = \frac{w^2 - 1}{12}, \alpha_2 = -2, \alpha_{-2} = -\frac{(w^2 - 1)^2}{128}, \mu = \frac{w^2 - 1}{16}, \lambda = 0. \tag{39}$$

By substituting equation (34), and the general solutions of equation (5) into equation (33), we have the following exact solutions:

for

$$w^2 > 1$$

$$u(\xi) = \frac{w^2 - 1}{2} \left[1 - \frac{\left(A \sinh\left(\frac{\sqrt{w^2 - 1}}{2} \xi\right) + B \cosh\left(\frac{\sqrt{w^2 - 1}}{2} \xi\right) \right)^2}{\left(A \cosh\left(\frac{\sqrt{w^2 - 1}}{2} \xi\right) + B \sinh\left(\frac{\sqrt{w^2 - 1}}{2} \xi\right) \right)^2} \right], \quad (40)$$

while

$$w^2 < 1$$

$$u(\xi) = \frac{w^2 - 1}{2} \left[1 + \frac{\left(-A \sin\left(\frac{\sqrt{1 - w^2}}{2} \xi\right) + B \cos\left(\frac{\sqrt{1 - w^2}}{2} \xi\right) \right)^2}{\left(A \cos\left(\frac{\sqrt{1 - w^2}}{2} \xi\right) + B \sin\left(\frac{\sqrt{1 - w^2}}{2} \xi\right) \right)^2} \right]. \quad (41)$$

In particular case $A \neq 0$, and $B = 0$, equations (40) and (41) turn to

$$u(x, t) = \frac{w^2 - 1}{2} \operatorname{sech}^2\left(\frac{1}{2} \sqrt{w^2 - 1} (x - wt)\right), \quad w^2 > 1, \quad (42)$$

and

$$u(x, t) = \frac{w^2 - 1}{2} \sec^2\left(\frac{1}{2} \sqrt{1 - w^2} (x - wt)\right), \quad w^2 < 1, \quad (43)$$

where equations (42) and (43) are the same as the result obtained by tanh-coth method [Wazwaz (2007)]. In the same way, by substituting equations (35)- (37) and the general solutions of equation (5) into equation (33), and also by considering $A \neq 0$, and $B = 0$, we obtain all result obtained by tanh-coth method.

6. Conclusion

This paper seeks a comparison between improved G'/G -expansion and tanh-coth methods. We have succeeded in identifying the equivalence of the two methods under special conditions in

two examples presented as solid evidence. Consequently, the solution of the equations via improved G'/G -expansion is exactly the same as the solution of tanh-coth method if the conditions $B = 0$ are $\lambda = 0$ are satisfied. In fact, we proved that the tanh-coth method is a special case of the improved G'/G -expansion method. (The computations associated in this work were performed by using Maple 13.)

REFERENCES

- Biazar, J. and Ayati, Z. (2008). Application of Exp-function method to Equal-width wave equation, *Physica Scripta*, 78 045005.
- He, J. H. (1992). Variational iteration method—a kind of non-linear analytical technique: some examples, *Int. J. Nonlinear Mech.* 34, pp. 699–708.
- He, J. H. (2005). Application of homotopy perturbation method to nonlinear wave equations, *Chaos Solitons Fractals*, 26, pp. 695 –700.
- He, J. H. and Wu, X. H. (2006). Exp-function method for nonlinear wave equations, *Chaos Solitons Fractals*, 30, pp. 700–708.
- Malfliet, W. (1992). Solitary wave solutions of nonlinear wave equations, *American Journal Physics*. 60 (7), pp. 650–654.
- Malfliet, W. and Hereman, W. (1996). The tanh method: I. Exact solutions of nonlinear evolution and wave equations. *Physic Scripta*, 54: pp. 563–8.
- Wang, M. L., Li, X. Z. and Zhang, J. L. (2008). The G'/G -expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, *physic Letter A*, 372, pp. 417–423.
- Wazwaz, A. M. (2005). The tanh method: Exact solutions of the Sine–Gordon and Sinh–Gordon equations, *Applied Mathematics and Computation*, 167, pp. 1196–1210.
- Wazwaz, A. M. (2006). The tanh and the sine–cosine methods for a reliable treatment of the modified equal width equation and its variants, *Communication Nonlinear Science Numerical Simulation*, 11: pp. 148–60.
- Wazwaz, A. M. (2007). Multiple-soliton solutions for the Boussinesq equation, *Applied Mathematics and Computation*, 192, pp. 479–486.
- Wazwaz, A. M. (2007). The extended tanh method for new solitons solutions for many forms of the fifth-order KdV equations, *Applied Mathematics and Computation*, 184 (2), pp. 1002–1014.
- Wazwaz, A. M. (2008). Analytic study on Burgers, Fisher, Huxley equations and combined forms of these, *Applied Mathematics and Computation*, 195, pp. 754–761.
- Zhang, J., Jiang, F. and Zhao, X. (2010). An improved (G'/G)-expansion method for solving nonlinear evolution equation, *International Journal of Computer Mathematics*, 87(8), pp.1716 – 1725.
- Zhang, S. (2008). A generalized G'/G -expansion method for the mKdV equation with variable coefficients. *Physics Letter A*; 372(13), pp. 2254–7.